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50
100
(Continuous time two-state Markov model) 2
(good state)
(bad state) [19]
6 0.2
0.1% 10% 6
2 20% 40%
421 Dumbell
Dumbell
FBA TCP TCP
1 Mbps
Jain
4.1 44
FBA TCP 10 Mbps
Jain 1
FBA TCP A~
2 Reno TCP SACK TCP

Reno TCP SACK TCP



FBA TCP, SACK TCP

8.79Mbps  s.43Mbps

41
~HcT~

0

1

2

3

4

5

6

7

8

9

Jain's Index

FBA TCP

(Thput)
TCP

Reno TCP

ol

9.98 Mbps

Dumbell

FBATCP (bps) SACK TCP (bps) Reno TCP (bps)

998320.0
998236.8
998236.8
998236.8
998320.0
998320.0
998236.8
998320.0
998320.0
998403.0

0.999999997

871140.5
946819.2
872371.8
897032.3
871290.2
894602.9
871290.2
894602.9
834532.5
835996.8

0.998778241

874152.3
839790.7
866880.6
867662.7
793315.2
875117.4
890825.6
794380.2
737521.3
893088.6

0.98877960" .



Throughput (Mbps)
o

4 R R e -
o D S A e 7 o 1 S o B B o e e A e e ey B S o ol e Tk 4
2 R QR N R m S A A R i .
_D TCP Fair Bandwidth allocation scheme
gL . |> sackTcp )
A Reno TCP

0 1 1 1 1 1 1 1 1

0 1 2 3 4 5 6 7 8 9
Flow ID no.
4.4 TCP
Dumbell
422 Parking Lot
{
Parking Lot
FBA TCP TCP
3 4
Parking Lot
1 Mbps
4.2 45 FBA TCP 1
N
10 \fbps Jain
1 FBATCP

Reno TCP SACK TCP
412
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4 , 2
1 1
SACK
TCP Reno TCP FBA TCP 1
3 .
2 1
2
42 45 1
2
Jain
FBA TCP
FBA TCP SACK TCP Reno TCP
9.98 Mbps 6.77 Mbps 6.75 Mbps 3

Parking Lot



4.2 (Thput)
TCP

Jain

— " FBATCP (bps) SACK TCP (bps)

Parking Lot

Reno TCP (bps)

0 997820.8 613037.4 582852.5
1 997654.4 620425.6 589392.0
2 997737.6 631591.0 596364.2
3 997737.6 645685.1 573700.5
4 997820.8 617197.4 562468.5
5 997820.8 612821.1 573667.2
6 998736.0 993810.6 762913.9
7 998819.2 945554.6 840556.2
8 998819.2 102517,7 840556.2
9 998902.4 987836.8 828492.2
Jain's Index 0.999999765 0.948226458 0.971754863
11 x 10
105 1
100 (m] o o] O ] (8] O e} 1)
95 PP 5, | © W 3 'f) o » a -
9 b tcnsrrsccssscsscnsrsnttR el R R i i T R s ccsscsencerarsnsossssnsnas . -
8 | : ; VAN 4
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= 7hb : 1
4 65F % P> 1
g 6 A A s ! -
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E 4 4
3k A
2F .
'& 3 TCP Fair Bandwidth allocation scheme
1 P\ & £ SACK TCP ]
\ ] Reno TCP
%7 5 % 4 & 8 7 @ 8
Flow D no.
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423 Upstream
Upstream
3
1
1
1 2 23 Mbps
2
2 3
3 4 6 Mbps
4
1
4 2
3 4 '
4.3 :
Jain 1
" 0 6 2
8 9
7 Jain '
1 Jain ' "
2 3 4.3 4.6 FBA
TCP Jain
utilization

SACK TCP Reno TCP SACK TCP Reno TCP

1 Jain



Jain

Reno TCP

SACK TCP

Reno TCP

4.3 (Thput)

Fid" Athput

0
1

2
3
4
5
6

Jain’s Index

Jain's Index

TCP

FBA TCP

FBA TCP

SACK TCP
3

Upstream

FBA TCP (bps) SACK TCP (bps) Reno TCP (bps)

2998370
2995037
2995037
2995203
2995370
2995453
2995037
1.00

1595306
1997968
1998051

0.9999996

2672188
2678511
2673069
2633450
2672770
2681206
2632950
0.999947
1156849
2083398
2117859

0.941519

2635663
2679842
2673053
2627043
2635779
2680108
2630987
0.999926
1427416
1794694
1947382

0.984216
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SACK TCP Reno TCP

4.9 4.12
FBA TCP
8% SACK TCP Reno TCP
FBA TCP
50-20
SACK TCP 30-10 Reno
TCP 8%
FBA TCP
FBA TCP
SACK TCP Reno TCP
Reno TCP
SACK TCP
FBA TCP
Dumbell
FBA TCP
1
° n ., A N N J
n : Jain 4.4
45 4.8 411 Jain
20% 40 %
FBA TCP

TCP



4.4 Jain
Dumbell
xhain’s Index
Loss\ FBA TCP
rate (%)
0.1 0.992146
2 0.991687
4 0.990603
6 0.989737
8 0.988749
10 0.989720

59

FBA TCP

Snoop

SACK TCP Reno TCP

0.99723
0.99764
0.996991
0.996899
0.996826
0.996584

0.996108
0.994403
0.993609
0.993722
0.989650
0.993110

SACK TCP Reno TCP

TCP
20%

No Snoop

Sack TCP Reno TCP

0.996321 0.997545
0.991539 0.988769
0.991159 0.990428
0.988257 0.995813
0.923362 0.959977
0.966510 0.933460



4.7

4.8

10

Throughput (Mbps)
o

Throughput (Mbps)
o

FBA TCP+ New Snoop
SACK TCP + Snoop
Reno TCP + Snoop

SACK TCP

Reno TCP

10

S o~ < © ©
Good state loss rate (%)
, 1
X106
u] g p a 5
[»}
- =]
=] &) 8
_ ° ;
(e}
I A [0
L 1 1 1 4 g
2% o~ < © © (=4

O FBA TCP+ New Snoop
O SACK TCP + Snoop

D Reno TER + Snoop .
O sACK e

A Reno TCP

20%

Good state loss rate (%)

20%
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F [T FBA TCP+ New Snoop

A SACK TCP + Snoop
> Reno TCP + Snoop

Snoop buffer size

=

b1 2 J 6
Good state loss rate (%9
4.9
20%
45 Jain
Dumbell
xjain’s Index Shoop
Loss\ FBA TCP
SACK TCP  Reno TCP
rate (%)
01 0.992146 0.996816  0.996588
2 0.991517 0.997043  0.990069
4 0.990926 0.995387  0.996988
6 0.990038 0.994190  0.987941
8 0.989506 0.995515  0.990747

10 0.991590 0.997930  0.995228

10

TCP

40%

No Snoop

Sack TCP

0.992011
0.994629
0.987711
0.965862
0.939966
0.948577

Reno TCP

0.994445
0.984918
0.910038
0.945760
0.870492
0.918669
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; 0 FBA TCP+ New Snoop
7 D> SACK TCP + Snoop g
D> Reno TCP + Snoop
A SACK TCP
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4.2.5

Snoop buffer size

FBA TCP

]
r O FBA TCP+ New Snoop .
A SACK TCP + Snoop
100k D> Reno TCP + Snoop
80f
4
60
401
20+
[
0 1 1 1 1
0.1 2 4 6 8 10
Good state loss rate (%)
40%
[ Parking Lot
20% 40%
1
Parking Lot 1 Mbps

20% 40%
0.1% 2% 4% 6% 8% 10%
FBA TCP
SACK TCP Reno TCP

4.13 4.16
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SACK TCP Reno TCP

FBA TCP
SACK TCP Reno TCP
SACK TCP Reno TCP

4. 5 4.18
FBA TCP
SACK TCP Reno TCP
50
FBA TCP
0 %
FBA TCP
SACK TCP
Reno TCP
SACK TCP
35
FBA TCP
exponential
Reno TCP
FBA TCP
Reno TCP 10
Parking Lot A SACK"TCP Reno TCP
' FBA TCP
Dumbell
Jain 4.6 4.7 4.14 4.17

FBA TCP
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20%

FBA TCP
4.6 Jain TCP
Parking Lot
\|ain’s Index Snoop No Snoop
Loss\ FBA TCP
SACKTCP RenoTCP Sack TCP Reno TCP
rate (% )\
01 0.999996 0.985611  0.991209 0.973498 0.948369
2 0.999968 0.971028  0.994068 0.968151 0.965095
4 0.999923 0972310 0.967904 0.973722 0.973453
6 0.999801 0.963785 0.974026 0.983035 0.969212
8 0.997010 0.978802 0.964603 0.931858 0.974899
10 0.997970 0.984443  0.981259 0.957078 0.883728
X106
10 ' e
H‘E_\‘E}K 1}
9t 3
8 O FBA TCP+ New Snoop| |
D> SACK TCP + Snoop
e B D RenoTCP+Snoop | ]
a A SACKTCP
§ A Reno TCP
3
S
8
&
Good state loss rate (%)
4.13

20%
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47 Jain TCP
Parking Lot
plain's Index Snoop No Snoop
Loss's, FBA TCP
SACK TCP Reno TCP Sack TCP Reno TCP
rate (%0)N .
01 0.997891 0.976498 0.951803 0.975968 0.953631
2 0.966064 0.967183 0.979715 0.981597 0.967428
4 0.999933 0.977578 0.983818 0.932857 0.951513
6 0.976761 0.960700 0.975158 0.975049 0.966857
8 0.939255 0.942647  0.955819 0.961960 0.930388
10 0.974464 0.977177 0973746 0.944616 0.916302
10 .
& / / /)0
9t a
. 0 FBA TCP+ New Snoop f
> SACK TCP + Snoop
7 D> Reno TCP + Snoop
A SACK TCP
A Reno TCP

Throughput (Mbps)

Good state loss rate (%)

4.16

40%
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4.2.6 Upstream
20% 40%
Upstream
20% 40%
’ 3
1
4.2.3
0.1% 2% 4% 6% 8% 10% 4.8 4.10
Jain 1
TCP 20%
40% 411 Jan
2 3 4.20 4.24
20% 40%
FBA TCP
1 2 3
2 3
2
2 Jain
1 SACK TCF
Reno TCP
4.19 4.23
FBA TCP
SACK TCP Reno TCP '
421
4.25 1



20%

4.26
2 3
1
FBA TCP
FBA TCP
2
1
exponential
SACK TCP Reno TCP
N
FBA TCP

Upstream

40%

FBA TCP

SACK TCP

FBA TCP

10

4.22

20% 40%
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4.8 Jain

Upstream
Njain's Index
Loss\ FBA TCP
rate (%)NS
01 0.996772
2 0.996728
4 0.996845
6 0.997040
8 0.997901
10 0.997751
49 Jain
Upstream

N|ain’s Index
Loss\ FBA TCP

rate (% )\.

01 0.999279
2 0.998739
4 0.998179
6 0.997723
8 0.996809

10 0.996535

Snoop

SACK TCP Reno TCP

0.999723  0.999298

0.998355  0.997295

0.999699  0.996346

0.995165  0.998172

0.995729  0.993830

0.996941  0.992293
Snoop

SACK TCP Reno TCP

0.977881
0.951509
0.946968
0.938226
0.947756
0.988385

0.944417
0.971816
0.943326
0.949295
0.948709
0.965708

TCP
20%

No Snoop

SACK TCP Reno TCP

0.998909  0.994223
0.999054  0.994302
0.989871  0.988521
0.994861  0.894106
0.963232  0.940513
0.965461  0.889043

TCP
20%

No Snoop

SACK TCP Reno TCP

0.986034  0.954743
0.918385  0.888169
0.939399  0.971837
0.970210  0.899435
0.886758  0.946743
0.961565  0.959977
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421
20% 1
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0 FBA TCP+ New Snoop

10 A SACKTCP + Snoop i
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14}

12F
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4.10 Jain TCP

Upstream

40%

\|]ain's Index Snoop No Snoop

Loss\ FBA TCP

rate (9%) SACKTCP Reno TCP SACK TCP Reno TCP

0.1 0.996887 0.998300 0.998884 0.998892  0.998101
2 0.996932 0.998298  0.988418 0.992921  0.970208
4 0.997015 0.997364 0.997250 0.973228  0.942669
6 0.997401 0.998495 0994841 0.985893  0.895718
8 0.997788 0.989021  0.992814 0.879391  0.972936
10 0.997679 0.994410 0.994328 0.858162  0.798542
411 Jain TCP
Upstream

40%

xjain's Index Snoop No Snoop

Loss\ FBA TCP

SACKTCP Reno TCP SACKTCP Reno TCP
rate (%)
0.1 0.999290 0.971471  0.9975486 0.977804  0.962386

2 0.998653 0.954068 0.975312 0.909349  0.888289
4 0.997970 0.958296 0.946569 0.934814  0.910904
6 0.997498 " 0.938383 0.944945 0.982483  0.897577
8 0.996831 * 0.941169  0.38108 0.988828  0.863429

10 0.997159 0.926906 0.957686  0.872234  0.954279
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Dumbell
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SACK TCP

Reno TCP SACK
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4.12

~Hd

(Thput) Jain
TCP Dumbell
—-—- _thpu® FBATCP (bps) SACK TCP (bps) Reno TCP (bps)
0 1744840 1649992 1541566
1 1743509 1597626 1662239
2 1743659 1675069 1397747
3 1744092 1581452 1669744
4 1744674 1620889 1420610
Jain's Index 0.999999907 0.999561347 0.994432033
5 247772.8 223495.0 1793325
6 247024.0 185605.8 219934.1
7 247356.8 212912.0 209051.5
8 247556.5 217171.8 222280.3
9 247856.0 205107.8 208552.3
Jain’s Index 0.999998529 0.996097416 0.994614250
18 X1
A ~
16 - . . . -
.
14} o -
12 - P o 2 -
« 0  TCP Fair Bandwidth allocation scheme
10} 2. SACK.TCF - ies T R ET AT S s 4
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2
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4.13 (Thput) Jain

TCP Parking Lot
A~ — pu”  FBA TCP (bps) SACK TCP (bps) Reno TCP (bps)
0 1734074 1480148 1426550
1 1757903 1470696 1383553
2 1758052 1462293 1404053
3 1749300 1482561 1428148
4 1759350 1447567 1438581
Jain’s Index 0.999970 0.999924 0.999804
5 245293.4 145852.8 139912.3
6 210332.8 220383.4 207986.6
7 278723.2 234843.5 204458.9
8 245892.5 272400.0 214842.2
9 213394.6 218802.6 204059.5
Jain's Index 0.989093 0.965785 0.980431
. X10
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4.29 4.32 FBA TCP
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utilization
SACK TCP
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431 4.34 FBA TCP
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4.14 Jain TCP
Dumbell

20%

S|ain’s Index Snoop No Snoop

Loss\ FBA TCP

SACKTCP Reno TCP SACK TCP Reno TCP
rate (Y%o)N'n

0.1 0.999999 0.998786  0.998197 0.996685  0.995561
2 1 0.998416  0.997127 0.986653  0.990214
4 0.999997 0.998277  0.997586 0.978532  0.983704
6 0.999996 0.995545 0.991440 0.983690 0.972134
8 0.999999 0.999300  0.995625 0.990770  0.947553
10 0.999988 0.995245  0.997717 0.995871  0.977644
4.15 Jain TCP
Dumbell
20%
\ in's Index Shoop No Snoop
FBA TCP
LossX.
SACK TCP Reno TCP SACK TCP Reno TCP
rate (%)
01 0.999998 0.996814  0.998399 0.988092  0.991837
2 0.999997 0.992532 0.998184 0.997803  0.998414
4 0.999998 0.995120 0.908881 0.998612  0.999420
6 0.999990 0.994775 0.984028 0.999202  0.998793
8 0.999914 0.992758 0.985216 0.999470  0.998909

10 0.999994 0.997602 0.996778 0.999553  0.999819
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20%
4.16 Jain TCP
Dumbell
40%
Xjain's Index Snhoop No Snoop
Loss\ FBA TCP
SACK TCP  Reno TCP SACK TCP Reno TCP
rate (%)N .
01 0.999998 0.996070  0.997182 0.997627  0.998373
2 0.999994 0.997330 0.997941 0.997200  0.991337
4 0.999999 0.999170  0.999541 0991901  0.982152
6 0.999993 0.991474  0.996054 0.831427 0.967116
8 0.999996 0.995071  0.996285 0.950332  0.914801

10

0.999976 0.997404  0.996798 0.981961  0.924732
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417 Jain TCP

Dumbell
40%
NJain’s Index Snoop No Snoop
Loss\ FBA TCP
SACKTCP RenoTCP SACKTCP Reno TCP
rate (%)M .
01 0.999998 0.995587 0.988874 0.996134  0.995248
2 0.999997 0.998284 0.963629 0.998106  0.995222
4 0.999994 0.989372 0.993167 0.997323  0.999467
6 0.999917 0.995817 0.996204 0.999676  0.999374
8 0.999976 0.997201 0.996253 0.999032 0.999514
10 . 0.999998 0.997264  0.999143 0.999343  0.999407
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4.18 Jain TCP
Parking Lot
20%
xjain's Index Snoop No Snoop
Loss\» FBA TCP

SACK TCP Reno TCP SACK TCP Reno TCP
rate (% ) 9

01 0.999999 0.999661  0.999237 0.997908  0.994009
2 0.897531 0.998356  0.994890 0.996547  0.994259
4 0.986457 0.995527  0.995572 0.961228  0.990050
6 0.999985 0.997753  0.993550 0.992773  0.845635
8 0.999979 0.995468 0.998373 0.976816  0.985565

10 0.999987 0.998738 0.998244 0.981859  0.990267
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0.999998 0.995831 0.991867 0.997169 0.979376
0.999995 0.993392 0.991933 0.988727 0.981279
0.999971 0.989262 0.976254 0.981522 0.988884
0.999984 0.988244 0.972538 0.992277 0.981433
0.999977 0.988302 0.987201 0.992940 0.971333
0.999942 0.988385 0.988689 0.997324 0.976028
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4.20 Jain TCP

Parking Lot

40%
xjain’s Index Snoop No Snoop
Loss\ FBA TCP
SACK TCP Reno TCP SACK TCP Reno TCP
rate (%)
0.1 0.999996 0.999208 0.995034 0.966134 0.995520
2 0.999997 0.999375 0.989584 0.997133 0.988666
4 0.999981 0.998087 0.984548 0.996248 0.983421
6 0.999987 0.997650 0.988798 0.979217 0.963412
8 1 0.998772 0.992830 0.961304 0.976557
10 0.999997 0.998754 0.996551 0.901282 0.982784
4.21 Jain TCP
Parking Lot
40%
s\ in's Index Snoop No Snoop
Loss\. FBA TCP

SACK TCP Reno TCP SACK TCP Reno TCP
rate (% )sv

0.1 0.999998 0.993393 0.985428 0.99381 1 0.994642
2 0.999996 0.964533 0.990995 0.984900 0.996948
4 0.999991 0.969030 0.976829 0.989075 0.942747
6 0.999992 0.984225 0.990087 0.984390 0.983062
8 0.999981 0.991623 0.988134 0.994259 0.991738

10 0.999934 0.945529 0.988689 0.991498 0.990345
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